Installation Guide
L& AA

Clamps 3£ £,

Upper bracket
S BR A

Installation Tools %% 1. E.

18 mm combination wrench(2PCS)
16 mm combination wrench(2PCS)
13 mm combination wrench(2PCS)

PR

Step 1: Assemble the bracket
F—L: HEZHE

Lower bracket

FSCRAL

Inclinometer {8 f1X

Step 2: Install the bracket
FTH: REZR

178256

Issue:01

M3{455 B8 (Attachment list)
% Frname %5 code Q;J'ar%ty
UBY AR 175213001 4
LR 175213002
L 175213003
2 175213004
N 175213006
e 9 5 175213005
208 175256001
12 Bolt GB/T5783 M12X 180
12 Bolt GB/T5783 M10X 125
12 #Bolt GB/T5783 M8X 45
124 Bolt GB/T5783 M8 X 20
(8] Sk J7 HUEAE GB/T12 M10X 25
B EENut GB/T6170 M12
WZFENut GB/T6170 M10
IZFENut GB/T6170 M8
“F-#J& Flat washer GB/T97.1 12
#5524 P8 Spring washer GB/T93 12
T2 &l Flat washer GB/T97.1 10
A EE B Spring washer GB/T93 10
-4 J8|Flat washer GB/T97.1 8
i # 4E Spring washer GB/T93 8

LA AN N I E N EN S EN FN =Y Y AN

-
o

@ |[C0 |||

~

Appearance of the actual antenna may differ from
the pictures. —— 15 LASZ) ik,

Follow the directions shown in the picture to install brackets.

TG PR R SR T

Follow the directions shown
in the picture to install
brackets.

AL v o N
TR RHEEIRE.




Installation Guide
Z 41t

Step 3: Install the antenna
F=H: REXRL

-

Pole diameter
BHER
® 50~d110

3 R %
o = |||<:

brackets.

The recommended

BKZ% I

M8=18 N-m; M10=35 N-m;

M12=62 N-m

Install the Antenna on the pole as shown in the figure.
The same installation method applies to both upper and lower

T TR 23 RGN I, S50 N S 4R 23 07 AR A
Check and tighten all the nuts when the installation is complete.
The operating torques are given in the following figures.

ZRGEE, BRI RITAIREL

"1l
1L

->

Step 4: Adjust the mechanical downtilt angle

BML: FTHRERINA T A

4 p

178256

Issue:01

Tighten all the
nuts before lifting
the antenna onto
the tower. Ensure
the bracket is fully
folded.
BT R S
rE0° EAdTiE
HEEPTE R,

Method 1
i1

Precise reference
ZE &

Scale of bracket
(the actual scale
prevails)
SRANER (5P

-angq‘ja > %%E;)
I

Method 2
7152

Precise measurement

KA

Before adjustment, adjust the
inclinometer to the desired downtilt
angle. After adjustment, locate the bead
in the middle of the inclinometer.

VHTHT, KA G B BT R 1T R
WA, UK R R

~N

175256

Mounting plate

distance Down tilt angle
e T A G
L(mm)
1600%5 0-12°

After the adjustment is complete, tighten all

the nuts.

ML RBERG, TR AR

Only qualified personnel are allowed to install

the antenna.

RE M 25 h B B RN et




